SM7HE 6 A1 HEBE (o A0 HRADH)

KM 4 TR [ |5 (A) | i (& (B) | 8 | EF(A+B) | 3R
T 2,507 3 2, 759 4 2, 837 -2 5, 596 2

T —TH 997 -1 910 0 781 -1 1,691 -1
PR — T H 580 -2 534 -1 554 0 1,088 -1
e =T H 646 2 686 3 650 1 1,336 4
JHTHTY T H 473 1 486 3 505 0 991 3
4R T H 331 0 349 -1 323 0 672 -1
JHPTHT ST H 308 -1 370 0 378 -2 748 -2
Lo HT 210 0 201 1 209 1 410 2

=a 382 -1 439 0 450 0 889 0

T H 1,927 3 1, 966 5 2,038 1 4, 004 6
PIHTHT 326 —/ 326 -5 313 -2 639 —7

Hh T H 920 0 976 -1 949 -1 1,925 )
HT—TH 283 2 335 -1 389 0 724 -1
R T H 331 -2 407 0 421 -3 828 -3
HHT =T H 500 2 640 2 627 1 1,267 3
BT B 298 0 399 -1 384 0 783 -1
A 234 0 253 -1 244 -2 497 -3

] = 291 1 338 0 323 1 661 1

— K 448 -1 453 -1 461 -1 914 )

— YV AREH—TH 0 0 0 0 0 0 0 0
=YAREMTTH 32 0 43 0 43 0 36 0
GIEL 109 0 121 0 117 0 238 0

— Y KHH 6 0 7 0 6 0 13 0
NH 4 689 4 856 5 853 -2 1,709 3
k4> 4,102 3 4, 345 7 4, 522 -2 8, 867 5

IR 3, 940 4 3, 637 -5 3, 690 8 7,327 3
i — 1T H 459 1 426 1 467 -1 893 0
i T H 709 4 753 3 784 3 1,537 6
E A 1,433 0 1,500 -2 1,553 1 3, 053 -1

=5 H 7 0 8 0 9 0 17 0
mE+H—TH 912 6 748 2 910 4 1, 658 6
R _TH 1,093 -6 1,035 ) 1,104 —/ 2,139 -6
BH5HR=TH 832 -1 735 —4 814 0 1, 549 —4
= LRIUTH 693 0 655 -3 695 0 1, 350 -3
ELtRATH 690 -3 716 —4 637 -2 1,353 -6
B ERANTH 0 0 0 0 0 0 0 0
T 4 T 1,879 -4 1, 860 -7 1,763 -6 3, 623 -13

sy Fe—T1H 283 2 291 1 302 2 593 3
v e T H 244 0 245 0 245 0 490 0
iy =T H 439 -1 424 -1 449 1 873 0
ks VU T H 703 -1 654 -2 710 0 1, 364 -2
iy B T H 416 3 463 2 488 6 951 8
mEiT—TH 255 1 285 3 319 1 604 4
FAET — T H 579 3 551 -1 597 2 1, 148 1
PRI =T H 192 0 174 0 227 0 401 0
=t 32, 688 17 33, 359 -1 34, 140 2 67, 499 1
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